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AA Notes — Section 5.5 — Standard Form = Finding x- and y- intercepts

Review: Slope: m = % *remember to label points (x4, y1) (X3, V2)
27%1
Slope-intercept Form: y=mx+b *m is slope, b is the y-intercept

Graphing from slope-intercept form: plot the y-intercept first, then count the slope (rise
over run) and plot the second point, continue counting the slope to plot four points when
they will fit on the graph provided; draw a line with a ruler and arrows.

Point-Slope Form: v—vi=m(Xx—x;) *misslope, point (x3, yi1)

Graphing from point-slope form: plot the point first, then count the slope (rise over run)
and plot the second point, continue counting the slope to plot four points when they will fit
on the graph provided; draw a line with a ruler and arrows.

Standard Form: Ax+By=C *no fractions/decimals; lead +1

Standard Form is used to graph a linear equation using the x & y intercepts.

Vocabulary:

The x-intercept is the point where the line crosses the _X-d x| <

The y-intercept is the point where the line crosses the ‘\J‘/ A S




| Examples — Find the x- and y- intercepts of the following equations, then graph the lines.

1. X+y=2 2. 5x+2y=-10 E X=y=—7
X=0 p 2 x=0 2B, X=0 NzO
ON=Z  x10=2 S(oyz4=10  Oxr2(0)=710
2\):")0 ox =-10
ﬂ:’% x=-1
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4. 2x+5y=6 6 4x—-9y=-12

X=0 =0 x=0 =0 =0 =0
2(00¥59=  Zx+5(0)=0b | -3(0)+y=l Z3x40=L | U(-Ay="12 4dx-9(0)=-12
Gy= Y 1x=o
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